Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 0%_Fadin
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 0%_Fadit Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g . [ty = aty |

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 0,6%_Fadin Pl =(L* =L*N )/ (Cw-L*n)
BuNtON: h*000y=38/360;11 co0v=236/136Q v _ a4 s [ 2ty - aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
Helligkeit L* Cranlata’ +b%37] M2
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 0,6%_Fadit Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g [ aty - aty |

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12
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L*M)
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 1,2%_Fadin Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g [ aty - aty |

b*a=b* = b*y = i [b*w —b*y ]
* —[ 4% 2 . 2
Helligkeit L*T Crapalata +b%’ ]
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 1,2%_Fadit Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g [ aty - aty |

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12
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LiM)
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 2,5%_Fadin Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g [ aty - aty |

b*a=b* = b*y = i [b*w —b*y ]
* —[ 4% 2 . 2
Helligkeit L*T Crapalata +b%’ ]
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 2,5%_Fadit Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g [ aty - aty |

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 5%_Fadin Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g . [ty = aty |

b*a=b* = b*y = i [b*w —b*y ]
* —[ 4% 2 . 2
Helligkeit L*T Crapalata +b%’ ]
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 5%_Fadit Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g . [ty = aty |

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

(C*abam
L*m)

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 10%_Fadin Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g [ ety - aty |

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 10%_Fadit Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g [ ety - aty |

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 20%_Fadin Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g [ ety - aty |

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 20%_Fadit Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g [ ety - aty |

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 40%_Fadin Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g [ ety - aty |

b*a=b* = b*y = i [b*w —b*y ]
* —[ 4% 2 . 2
Helligkeit L*T Crapalata +b%’ ]
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG45_LECD display_2 40%_Fadit Pl =(L* =L*N )/ (Cw-L*n)

Buntton: h* oooy=381360i1*cooy=236/360ys o _ g [ ety - aty |

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12
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